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平成 29 年度 英語 実技検査（リスニングテスト） 

（ 分 秒） 

Chime 

 

Listening Comprehension Test 

 

Directions 

 

You are going to have a Listening Comprehension Test.  This test 

consists of Part 1 and Part 2, with a different passage for each part. 

 

 

First, you will hear each passage.  Each passage will be read twice. 

Listen carefully and try to grasp the main points of the passage.  Then, 

after each passage, you will be asked three multiple choice questions.  

Each question will be read twice. 

 

 

For each question, there are four possible answers written on your 

question sheet, labeled by the numbers 1, 2, 3 and 4.  You must choose 

the best answer for each question. Indicate your choice by marking the 

number 1, 2, 3 or 4 on your answer sheet.   
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Part 1 

When you see a snowy owl, it's clear how the bird probably got its name: they're snow-

white. Males are generally whiter than females. As males grow older, they get whiter. 

The females never become completely white—remaining brownish with darker markings.  

 

These large owls mainly live in the Arctic in open, treeless areas called tundra. Snowy 

owls perch on the ground or on short posts. From there they patiently watch for prey. 

Their favorite target is lemmings—small mouselike rodents—but they also hunt for other 

small rodents, rabbits, birds, and fish.  

 

Snowy owls have excellent eyesight, but they obviously can't see their prey when it's 

underneath snow or a thick layer of plants. To capture those meals, the owl relies on its 

other keen sense: hearing.  

 

In flight, snowy owls generally cruise low to the ground. Once they spot their prey, they 

approach it from the air, and snatch it up using the large, sharp talons, or claws, on their 

feet.  

 

Most owls sleep during the day and hunt at night, but the snowy owl is active during the 

day, especially in the summertime. They tend to be most active at dawn and dusk.  

 

Snowy owl pairs usually mate for life. Female snowy owls lay from 3 to 11 eggs at a 

time, in a nest built on the ground. When there is plenty of food available, snowy owls 

tend to lay more eggs than when food is scarce.  

 

Lemmings make up the main part of the snowy owls' diet, and lemming population 

numbers rise and fall naturally. Sometimes, if there is not enough prey around to feed 

baby owls, the adult pair won't lay any eggs at all until the supply of food improves.  

 

The female snowy owl sits on her eggs until they hatch. The male feeds her while she 

keeps their eggs warm and safe. After about one month, the eggs hatch.  

 

Babies are covered in soft white down when they hatch. As new feathers replace the 

down, the birds become light brown.  

 

The young leave the nest less than a month after they hatch. By the time they’re about a 

month and a half old, the young owls can fly well, but their parents take care of them for 

another ten weeks or more. 

 

著作権保護の観点により、本文を掲載いたしません。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

出典：National Geographic for Kids “SNOWY OWL”                                                           

(http://kids.nationalgeographic.com/animals/snowy-owl/) 

 

 

http://kids.nationalgeographic.com/animals/snowy-owl/


3 

 

 

Question 1  

According to the passage, what affects the number of eggs female snowy owls 

lay? 

①   The number of natural enemies for snowy owls.  

②   The climate where snowy owls live. 

③   The amount of food supply for snowy owls. 

④   The places snowy owls build their nests. 

 

Question 2  

According to the passage, how long does it take for the eggs of snowy owls to 

hatch? 

①  3 to 11 days. 

②  About a week. 

③   About a month. 

④  Ten weeks or more. 

 

Question 3  

According to the passage, which statement is correct? 

①   Female snowy owls are generally whiter than male snowy owls. 

②   Snowy owls use not only eyesight but also hearing to capture their  

meals. 

③   Snowy owls generally cruise high in the sky during flight. 

④  Snowy owls are more active during the night.  
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Part 2 

In the beginning there was no oxygen.  Four billion years ago, the air 

probably contained about one part in a million of oxygen.  Today, the atmosphere 

is just less than 21 per cent oxygen, or 208500 parts per million.  However this 

change might have come about, it is pollution without parallel in the history of life 

on Earth.  We do not think of it as pollution, because for us, oxygen is necessary 

and life-giving.  For the tiny single-celled organisms that lived on the early Earth, 

however, oxygen was anything but life-giving. It was a poison that could kill, 

even at trace levels.  A lot of oxygen-hating organisms still exist, living in 

stagnant swamps or beneath the seabed, even in our own guts.  Many of these die 

if exposed to an oxygen level above 0.1 per cent of present atmospheric levels. 

For their ancestors, who ruled the ancient world, pollution with oxygen must have 

been calamitous.  From dominating the world they shrank back to a reclusive 

existence at the margins. 

 

Oxygen-hating organisms are said to be anaerobic ― they cannot use oxygen 

and, in many cases, can only live in its absence. Their problem is that they have 

nothing to protect them against oxygen poisoning: they possess few, if any, 

antioxidants.  In contrast, most living things today tolerate so much oxygen in the 

air because they are stuffed full of antioxidants.  There is a paradox hidden in this 

progression. How did modern organisms evolve their antioxidant protection?  

According to the standard textbook view, antioxidants could not have been present 

in the first cells that began emitting oxygen as a toxic waste product: how could 

they have adapted to a gas that had not existed before?  Yet if this assumption is 

true ― that antioxidants evolved after the rise in atmospheric oxygen  

― then the huge rise in atmospheric oxygen must have posed a very serious 

challenge to early life. If oxygen had anything like the effect on the first anaerobic 

cells that it does on their descendants today, then there ought to have been a mass 

extinction of anaerobic organisms that would put the fall of the dinosaurs in the 

shade. 

 

356 words 

 

 

 

 

著作権保護の観点により、本文を掲載いたしません。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

出典：Nick Lane “OXYGEN ― The Molecule that made the World” 

          (OXFORD University Press) 16 ページから 17 ページまで 
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Question 1  

According to the passage, which place is difficult for oxygen-hating organisms to 

live? 

①   In the air. 

②   In the swamps. 

③   In the bottom of the sea. 

④  In our body. 

 

Question 2  

According to the passage, what is an anaerobic organism? 

①   It’s a single-celled organism that makes contaminants. 

②   It’s a life-giving organism and necessary for us. 

③   It’s an organism that usually can’t live in the presence of oxygen.  

④   It’s an organism that could have killed even the dinosaurs. 

 

Question 3  

According to the passage, which statement is correct? 

①   The increase in the amount of oxygen for 4 billion years has benefited all 

kinds of organisms. 

②   For all kinds of organisms living on the early earth, oxygen was  a poison 

that could kill. 

③   We can live with oxygen because we have antioxidants that protect us 

against oxygen poisoning. 

④  The huge fall in atmospheric oxygen must have been a serious challenge to  

early life on the earth. 

 


